

Sales Quote

DANA SAFETY SUPPLY, INC
4809 KOGER BLVD
GREENSBORO, NC 27407

Telephone: 800-845-0405

Sales Quote No.	404462-A
Customer No.	CLEAR

Bill To

CLEARWATER POLICE DEPT
 645 PIERCE STREET
 CLEARWATER, FL 33756
 S. BAGINSKI

Ship To

CLEARWATER PD
 645 PIERCE ST
 CLEARWATER, FL 33756

Contact:
 Telephone: 727-562-4255
 E-mail:

Contact: S. BAGINSKI
 Telephone:
 E-mail:

Quote Date	Ship Via	F.O.B.	Customer PO Number	Payment Method	
08/20/21	GROUND SHIPMENT	PPAY & ADD TO INVOICE	SWAT EQUIPMENT	Net 30	
Entered By		Salesperson	Ordered By	Project Name	
Jon Sizemore		Christian Debrita - Tampa	SWAT/TRAINING		
Order Quantity	Approve Quantity	Tax	Item Number / Description	Unit Price	Extended Price
25	25	Y	WRMCX300B6BTAPSDHGMA SIGMCX 300 BLK SBR 6.75IN, BLK AUTO FOLD SIGHTS Warehouse: DROP Vin #: TELE FOLD STOCK, AL MLOK SD HG, (1) 30RD MAG	1,665.0000	41,625.00
25	25	Y	SLX762 Sig Sauer SUPPRESSOR, SLX, 7.62MM, INC/SS, DIRECT THRE Warehouse: DROP Vin #: QUICK DETACH SUPPRESSOR	825.0000	20,625.00
25	25	Y	SOR43032 SIG ROMEO 4T RED DOT SIGHT W/ SOLAR Warehouse: DROP Vin #:	366.0000	9,150.00
25	25	Y	SOJ41001 SIG JULIET4 4X24 MAGNIFIER Warehouse: DROP Vin #:	266.0000	6,650.00
25	25	Y	MISC BLUE FORCE GEAR 2PT SLING W/ SWIVEL QD Warehouse: DROP Vin #:	75.0000	1,875.00
25	25	Y	MISC SUREFIRE DS-SR07 TAPESWITCH Warehouse: DROP Vin #: *check if the part # already exists*	144.9400	3,623.50

Print Date	08/23/21
Print Time	02:43:32 PM
Page No.	1

Printed By: Chris Debrita

Continued on Next Page

Sales Quote

DANA SAFETY SUPPLY, INC
4809 KOGER BLVD
GREENSBORO, NC 27407

Telephone: 800-845-0405

Sales Quote No.	404462-A
Customer No.	CLEAR

Bill To
CLEARWATER POLICE DEPT 645 PIERCE STREET CLEARWATER, FL 33756 S. BAGINSKI

Ship To
CLEARWATER PD 645 PIERCE ST CLEARWATER, FL 33756

Contact:
Telephone: 727-562-4255
E-mail:

Contact: S. BAGINSKI
Telephone:
E-mail:

Quote Date	Ship Via	F.O.B.	Customer PO Number	Payment Method	
08/20/21	GROUND SHIPMENT	PPAY & ADD TO INVOICE	SWAT EQUIPMENT	Net 30	
Entered By		Salesperson	Ordered By	Project Name	
Jon Sizemore		Christian Debrita - Tampa	SWAT/TRAINING		
Order Quantity	Approve Quantity	Tax	Item Number / Description	Unit Price	Extended Price
25	25	Y	MISC SUREFIRE M340C Warehouse: DROP Vin #: *check if the part # already exists*	259.0000	6,475.00
25	25	Y	MISC BCM SHORT VERT GRIP M-LOK Warehouse: DROP Vin #: *check if the part # already exists*	18.0000	450.00
25	25	Y	MISC MIDWEST INDUSTRIES 6IN MCX VIRTUS RAIL Warehouse: DROP Vin #: *check if the part # already exists*	150.0000	3,750.00
100	100	Y	MISC MAGPUL PMAG 300 BLK Warehouse: DROP Vin #: *check if the part # already exists*	17.5000	1,750.00
25	25	Y	MISC VERTEX COMMUTER XL 2.0 CANOPY GREEN Warehouse: DROP Vin #: *check if the part # already exists*	133.0000	3,325.00
25	25	Y	MISC MAGPUL QD SLING MOUNT M-LOK Warehouse: DROP Vin #: *check to see if the part # already exists first*	16.5000	412.50

Print Date	08/23/21
Print Time	02:43:32 PM
Page No.	2

Printed By: Chris Debrita

Continued on Next Page

Sales Quote

DANA SAFETY SUPPLY, INC
4809 KOGER BLVD
GREENSBORO, NC 27407

Telephone: 800-845-0405

Sales Quote No.	404462-A
Customer No.	CLEAR

Bill To
CLEARWATER POLICE DEPT 645 PIERCE STREET CLEARWATER, FL 33756 S. BAGINSKI

Ship To
CLEARWATER PD 645 PIERCE ST CLEARWATER, FL 33756

Contact:
Telephone: 727-562-4255
E-mail:

Contact: S. BAGINSKI
Telephone:
E-mail:

Quote Date	Ship Via	F.O.B.	Customer PO Number	Payment Method
08/20/21	GROUND SHIPMENT	PPAY & ADD TO INVOICE	SWAT EQUIPMENT	Net 30
Entered By		Salesperson	Ordered By	Project Name
Jon Sizemore		Christian Debrita - Tampa	SWAT/TRAINING	

Order Quantity	Approve Quantity	Tax	Item Number / Description	Unit Price	Extended Price
			<p>Approved By: _____</p> <p><input type="checkbox"/> Approve All Items & Quantities</p> <p>Quote Good for 30 Days</p>		

Print Date	08/23/21
Print Time	02:43:32 PM
Page No.	3

Subtotal	99,711.00
Freight	0.00
Order Total	99,711.00

Printed By: Chris Debrita

Sales Quote

DANA SAFETY SUPPLY, INC
 4809 KOGER BLVD
 GREENSBORO, NC 27407

Telephone: 800-845-0405

Sales Quote No.	404460
Customer No.	CLEAR

Bill To
CLEARWATER POLICE DEPT 645 PIERCE STREET CLEARWATER, FL 33756

Ship To

Contact:
 Telephone:
 E-mail:

Contact:
 Telephone:
 E-mail:

Quote Date	Ship Via	F.O.B.	Customer PO Number	Payment Method	
08/20/21	GROUND SHIPMENT	FOB DESTINATION	SWAT EQUIPMENT	Net 30	
Entered By		Salesperson	Ordered By	Project Name	
Jon Sizemore		Christian Debrita - Tampa	SWAT/TRAINING		
Order Quantity	Approve Quantity	Tax	Item Number / Description	Unit Price	Extended Price
23	23	N	GUN HK 416 D UPPER ONLY Warehouse: DROP Vin #:	-3500.0000	-80,500.00
24	24	N	TRADE-IN GUN SUREFIRE SOCOM RC2 556 SUPPRESSOR Warehouse: DROP Vin #:	-275.0000	-6,600.00
30	30	N	TRADE-IN GUN EOTECH XPS2 Warehouse: DROP Vin #:	-175.0000	-5,250.00
			Approved By:		
			Approve All Items & Quantities		
			Quote Good for 30 Days		

Print Date	08/20/21
Print Time	01:23:07 PM
Page No.	1

Printed By: Jon Sizemore

Subtotal	-92,350.00
Freight	0.00
Order Total	-92,350.00



Subject: Authorized SIG Law Enforcement Distributor
Reference: Contracted distributor for the State of Florida
Effective: August 3, 2021

To Whom It May Concern,

SIG SAUER, Inc. (SIG) hereby confirms that Dana Safety Supply and B & H Police Supply (located at 1855 Cassat Ave, Jacksonville, FL 32210 and 245 E Merritt Island Cswy, Merritt Island, FL 32952) are the sole contracted and authorized SIG Law Enforcement Distributors (SLED) for the state of Florida. Furthermore, Dana Safety and B& H Police Supply are authorized to conduct the sale of SIG products and accessories to law enforcement agencies for the state of Florida.

Please let me know if any additional information is required.

Respectfully,

David M Jones

Dave Jones
Senior Director, Law Enforcement Sales
SIG SAUER, Inc.

